Pacific Journal of Mathematics

A GENERALIZATION OF (-1, 1) RINGS

ERWIN KLEINFELD

Vol. 53, No. 1

March 1974

A GENERALIZATION OF (-1, 1) RINGS

ERWIN KLEINFELD

A ring is defined to be a division ring in case the equations ax = b, and ya = b, have unique solutions for x and y whenever $a \neq 0$. It is shown that division rings of characteristic $\neq 2$, 3 which satisfy the identities (i) (wx, y, z) +(w, x, (y, z)) = w(x, y, z) + (w, y, z)x, (ii) (x, y, z) + (y, z, x) +(z, x, y) = 0, and (iii) ((x, y), y, y) = 0, are associative.

Main section. We consider rings R of characteristic different from 2 and 3 which satisfy the identities

$$(1) \qquad (wx, y, z) + (w, x, (y, z)) = w(x, y, z) + (w, y, z)x,$$

$$(2) \qquad (x, y, z) + (y, z, x) + (z, x, y) = 0,$$

$$(3) \qquad ((x, y), y, y) = 0,$$

where (a, b, c) = (ab)c - a(bc), and (a, b) = ab - ba. The first of these identities holds in right alternative rings and has been investigated in combination with others [5, 6]. In an arbitrary ring it can be verified that ((x, y), z) + ((y, z), x) + ((z, x), y) = (x, y, z) + (y, z, x) + (y, z, x(z, x, y) - (x, z, y) - (z, y, x) - (y, x, z). If the ring is third-power associative, then (x, y, z) + (y, z, x) + (z, x, y) + (x, z, y) + (z, y, x) + (z, y, x)(y, x, z) = 0, so that ((x, y), z) + ((y, z), x) + ((z, x), y) = 2(x, y, z) + ((y, z), y) = 2(x, y) = 2(x, y) + ((y, z), y) = 2(x, y) =2(y, z, x) + 2(z, x, y). We have shown that in a third-power associative ring of characteristic $\neq 2$, identity (2) is equivalent to Lieadmissibility. Next we will show that a ring which satisfies (1) and (2) is Jordan-admissible if and only if it satisfies (3). Suppose A is a ring of characteristic $\neq 2$ which satisfies (1) and (2) and which is Jordan-admissible. That means that A under a new product xy + yxmust satisfy the Jordan identity, so that $(xy + yx)x^2 + x^2(xy + yx) - x^2(xy + yx) + x^2(xy$ $x(x^2y + yx^2) - (x^2y + yx^2)x = 0$, which implies that $-(x^2, y, x) + (x^2y + yx^2)x = 0$ $(x, y, x^2) - (y, x^2, x) + (y, x, x^2) + (x, x^2, y) - (x^2, x, y) = 0.$ Since we have $(yx, x, x) - (y, x^2, x) + (y, x, x^2) = (y, x, x)x$, in every ring, while (1) implies (yx, x, x) = (y, x, x)x, we see that $(y, x^2, x) = (y, x, x^2)$. Also (1) implies the two identities $(x^2, y, x) + (x, x, (y, x)) = x(x, y, x) + (x, y, x)x$, and $(x^2, x, y) + (x, x, (x, y)) = x(x, x, y) + (x, x, y)x$. Adding these and use of (2) shows that $(x^2, y, x) + (x^2, x, y) = x(x, y, x) + x(x, x, y) + x(x, x, y) + x(x, x, y)$

(x, y, x)x + (x, x, y)x = -x(y, x, x) - (y, x, x)x. In an arbitrary ring one may verify the identity $(xy, x, x) - (x, yx, x) + (x, y, x^2) = x(y, x, x) +$ (x, y, x)x, while (1) implies that (xy, x, x) = x(y, x, x), so that $(x, y, x^2) =$ (x, yx, x) + (x, y, x)x. Also in an arbitrary ring $(x^2, x, y) - (x, x^2, y) +$ (x, x, xy) = x(x, x, y), while (1) implies $(x^2, x, y) + (x, x, (x, y)) = x(x, x, y) +$ (x, x, y)x. Subtracting the next to the last from the last equation it follows that $(x, x^2, y) = (x, x, yx) + (x, x, y)x$. Putting all of these substitutions in the Jordan-admissible relation, we find that (y, x, x)x = x(y, x, x), as all other terms cancel. But in that case, since we have already verified that (xy, x, x) = x(y, x, x), and (yx, x, x) =(y, x, x)x, we must have ((x, y), x, x) = 0. This is equivalent to identity (3). Similarly one can work through this argument backwards to show that (1), (2), and (3) imply Jordan-admissibility. Of course (3) also holds in every right alternative ring. All three identities are valid in (-1, 1) rings, which have been investigated in detail by Maneri [7] and Hentzel [1, 2].

Nonassociative division rings are of interest in the study of the foundation of projective geometry, as they coordinate non-Desarguesian planes. It is therefore of interest to classify those rings R which are division rings. Our main result is the following.

THEOREM. All division rings of characteristic different from 2and 3 which satisfy the identities (1)-(3) are associative.

In order to prove this result we derive a number of other identities, many of which are valid in all R, not necessarily division rings. We begin with the Teichmüller identity

$$(4) \quad (wx, y, z) - (w, xy, z) + (w, x, yz) = w(x, y, z) + (w, x, y)z$$

which is valid in every ring and which can be established by use of the definition of the associator (a, b, c). Four applications of the identity (4) lead to the equations

$$\begin{array}{l} (wx, y, z) - (w, xy, z) + (w, x, yz) = w(x, y, z) + (w, x, y)z , \\ -(xy, z, w) + (x, yz, w) - (x, y, zw) = -x(y, z, w) - (x, y, z)w , \\ (yz, w, x) - (y, zw, x) + (y, z, wx) = y(z, w, x) + (y, z, w)x , \\ -(zw, x, y) + (z, wx, y) - (z, w, xy) = -z(w, x, y) - (z, w, x)y , \end{array}$$

so that adding all the left sides we obtain, after repeated applications of (2), the sum of zero. Adding the right hand sides we obtain (w, (x, y, z)) - (x, (y, z, w)) + (y, (z, w, x)) - (z, (w, x, y)). Thus

$$(5) (w, (x, y, z)) - (x, (y, z, w)) + (y, (z, w, x)) - (z, (w, x, y)) = 0.$$

Using (1) twice, we discover that (ab, y, y) + (a, b, (y, y)) = a(b, y, y) + (a, y, y)b, while (ba, y, y) + (b, a, (y, y)) = b(a, y, y) + (b, y, y)a. Subtracting the second equation from the first it follows that

 $(6) \qquad ((a, b), y, y) = (a, (b, y, y)) - (b, (a, y, y)).$

If we let a = x, and b = y, in (6) and use (3), then

$$(7) (y, (x, y, y)) = 0.$$

A linearization of (7), obtained by replacing y by y + z and y - z, leads to

$$(8) \qquad (y, (x, y, z)) + (y, (x, z, y)) + (z, (x, y, y)) = 0.$$

Substituting w = z = y in (5) it follows that (y, (x, y, y)) - (y, (y, x, y)) + (y, (y, y, x)) = 0, since (y, y, y) = 0, follows from (2). But (x, y, y) + (y, x, y) + (y, y, x) = 0, as a result of (2). Thus 2(y, (y, x, y)) = 0, so that

$$(9) (y, (y, x, y)) = 0.$$

Linearizing (9), it follows that

(10)
$$(z, (y, x, y)) + (y, (z, x, y)) + (y, (y, x, z)) = 0$$
.

Substituting x = z = y, and w = x, in (1) it follows that

(11) (xy, y, y) = (x, y, y)y.

Expanding ((a, b, c), y, y) = ((ab)c, y, y,) - (a(bc), y, y) and applying (1) repeatedly to break up products, we establish that

$$(12) \quad ((a, b, c), y, y) = ((a, y, y), b, c) + (a, (b, y, y), c) + (a, b, (c, y, y)).$$

Substituting z = x, and w = y, in (5) it follows that 2(y, (x, y, x)) - 2(x, (y, x, y)) = 0. Because the characteristic is different from 2 this implies

(13)
$$(y, (x, y, x)) = (x, (y, x, y))$$

Substituting z = y, and w = x, in (5), it follows that (x, (x, y, y)) - (x, (y, y, x)) + (y, (y, x, x)) - (y, (x, x, y)) = 0. However, (y, x, x) may be replaced by -(x, y, x) - (x, x, y), because of (2) and -(y, y, x) by (y, x, y) + (x, y, y), so that (x, (x, y, y)) + (x, (y, x, y)) + (x, (x, y, y)) - (y, (x, y, x)) - (y, (x, x, y)) = 0. But the second and fourth terms cancel as a consequence of (13), so that the remaining terms become 2(x, (x, y, y)) - 2(y, (x, x, y)) = 0. Since the characteristic of R is different form 2 this implies (x, (x, y, y)) = (y, (x, x, y)). Substituting z = x in (8), it follows that (x, (x, y, y)) = -(y, (x, y, x)) - (y, (x, x, y)) = (y, (y, x, x)), since (y, x, x) + (x, y, x)(x, x, y) = 0, as a consequence of (2). We can now combine the previous equations to obtain (y, (x, x, y)) = (y, (y, x, x)). Since (y, x, x) + (x, y, x) + (x, x, y) = 0, this implies

(14)
$$(y, (x, y, x)) = -2(y, (y, x, x)) = -2(y, (x, x, y)).$$

Substituting y = a + b, x = y, and y = a - b, x = y, in (14) it follows that

$$(15) (a, (y, b, y)) + (b, (y, a, y)) = -2(a, (b, y, y)) - 2(b, (a, y, y))$$

Substituting x = xy in (3), we derive ((xy, y), y, y) = 0. Substituting x = (x, y) in (11) it follows that ((x, y)y, y, y) = ((x, y), y, y)y = 0, using (3). But (xy, y) - (x, y)y = (xy)y - y(xy) - (xy)y + (yx)y = (y, x, y). Consequently ((y, x, y), y, y) = ((xy, y), y, y) - ((x, y)y, y, y) = 0. We have shown

(16)
$$((y, x, y), y, y) = 0$$
.

Substituting x = (z, x, y) + (y, x, z) in (3), we see that (((z, x, y) + (y, x, z), y), y, y) = 0. But then use of (10) leads to 0 = -((z, (y, x, y)), y, y) = (((y, x, y), z), y, y). Substituting a = (y, x, y), b = z, in (6), it follows that (((y, x, y), z), y, y) = ((y, x, y), (z, y, y)) - (z, ((y, x, y), y, y)) = ((y, x, y), (z, y, y)), because of (16). Thus <math>((y, x, y), (z, y, y)) = 0. Permuting x and z in this last inentity we obtain

(17)
$$((y, z, y), (x, y, y)) = 0$$
.

From (8) it follows that (z, (x, y, y)) = -(y, (x, y, z)) - (y, (x, z, y)) =((x, y, z) + (x, z, y), y). Substituting x = (x, y, z) + (x, z, y) in (3), it follows that (((x, y, z) + (x, z, y), y), y, y) = 0. Thus ((z, (x, y, y), y, y)) =0. Substituting a = z, b = (x, y, y) in (6), it follows that ((z, (x, y, y)), y, y) = (z, ((x, y, y), y, y)) - ((x, y, y), (z, y, y)). Hence 0 = (z, ((x, y, y), y, y)) - ((x, y, y), (z, y, y)), so that

(18)
$$(z, ((x, y, y), y, y)) = ((x, y, y), (z, y, y))$$

Substitute a = c = y, and b = x, in (12). Then ((y, x, y), y, y) = (y, (x, y, y), y). As a consequence of (16) it follows that

(19)
$$(y, (x, y, y), y) = 0$$
.

In (15) substitute a = z, b = (x, y, y). Then (z, (y, (x, y, y), y)) + ((x, y, y), (y, z, y)) = -2(z, ((x, y, y), y, y)) - 2((x, y, y), (z, y, y)). Because of (17) and (19) the left side of the last identity is zero. Thus -2(z, ((x, y, y), y, y)) - 2((x, y, y), (z, y, y)) = 0. Using characteristic different from 2, this implies

$$(20) (z, ((x, y, y), y, y)) + ((x, y, y), (z, y, y)) = 0.$$

Comparing identities (18) and (20), and using characteristic different from 2 once more, we obtain

(21)
$$(z, ((x, y, y), y, y)) = 0$$
.

Substituting x = xy in (21), we see that (z, ((xy, y, y), y, y)) = 0. But (11) implies that (xy, y, y) = (x, y, y)y, so that (z, ((x, y, y)y, y, y)) = 0. Substituting x = (x, y, y) in (11), it follows that ((x, y, y)y, y, y) = 0. ((x, y, y), y, y)y, so that

(22)
$$(z, ((x, y, y), y, y)y) = 0$$

By expansion (a, bc) + (b, ca) + (c, ab) = -(a, b, c) - (b, c, a) - (c, a, b) = 0, as a consequence of (2). Thus we have established

(23)
$$(a, bc) + (b, ca) + (c, ab) = 0$$
.

Substituting a = ((x, y, y), y, y), b = y, c = z, in (23), it follows that (((x, y, y), y, y), yz) + (y, z((x, y, y), y, y)) + (z, ((x, y, y), y, y)y) = 0. Substituting z = yz in (21) implies that the first term of the last identity must vanish. The third term vanishes because of (22). That leaves

$$(24) (y, z((x, y, y), y, y)) = 0.$$

We are now ready to prove the following.

LEMMA 1. If R is a division ring then for every element y in R either (y, R) = 0, or (R, y, y) = 0.

Proof. It follows directly from (24) that either ((R, y, y), y, y) = 0, or (y, R) = 0. Suppose that ((R, y, y), y, y) = 0. Then $((x^2, y, y), y, y) =$ 0. Substituting w = x, z = y, in (1), it follows that $(x^2, y, y) =$ x(x, y, y) + (x, y, y)x. Thus 0 = (x(x, y, y) + (x, y, y)x, y, y). Substituting w = (x, y, y), and z = y in (1), it follows that ((x, y, y)x, y, y) = $(x, y, y)^2 + ((x, y, y), y, y)x = (x, y, y)^2$, as a consequence of ((R, y, y),y, y) = 0. Also substituting w = x, x = (x, y, y), z = y, in (1), it follows that $(x(x, y, y), y, y) = x((x, y, y), y, y) + (x, y, y)^2 = (x, y, y)^2$. Thus $0 = (x(x, y, y) + (x, y, y)x, y, y) = 2(x, y, y)^2$. Then characteristic different from 2 implies that $(x, y, y)^2 = 0$, and since R is a division ring, (x, y, y) = 0. This completes the proof of the lemma.

LEMMA 2. If R is a division ring then for all elements x, y, z in R we have the identity (z, (x, y, y)) = 0.

Proof. From (8) it follows that (z, (x, y, y)) = -(y, (x, y, z)) - (y, (x, z, y)). Then Lemma 1 suffices to show that either the left hand side or the right hand side vanishes for every fixed y and arbitrary x and z in R. This completes the proof of the lemma.

LEMMA 3. If R is a division ring then the identity (x, (x, y, y)z) = 0, holds for all elements x, y, z in R.

Proof. Substituting x^2 for x in Lemma 2, it follows that

 $(z, (x^2, y, y)) = 0$. But substituting w = x, z = y, in (1), it follows that $(x^2, y, y) = x(x, y, y) + (x, y, y)x = 2x(x, y, y)$, as a result of substituting z = x in Lemma 2. Thus 0 = (z, 2x(x, y, y)), so that (z, x(x, y, y)) = 0. Substituting a = z, b = x, c = (x, y, y) in (23), it follows that (z, x(x, y, y)) + (x, (x, y, y)z) + ((x, y, y), zx) = 0. We have just shown that the first term of the last equation is zero. Substituting zx for z in Lemma 2 implies that the third term is zero as well. Hence (x, (x, y, y)z) = 0. This completes the proof of the lemma.

LEMMA 4. If R is a division ring then the identity ((x, z), y, y) = 0, holds for all elements x, y, z in R.

Proof. Substituting a = x, b = z in (6), it follows that ((x, z), y, y) = (x, (z, y, y)) - (z, (x, y, y)) = 0, as a consequence of Lemma 2. This completes the proof of the lemma.

THEOREM 1. If R is a division ring then R is either right alternative or the identity ((a, b), c) = 0, holds for all elements a, b, c in R.

Proof. Linearizing the identity of Lemma 3, we obtain (w, (x, y, y)z) = -(x, (w, y, y)z). Substituting w = (a, b) in this, it is clear that ((a, b), (x, y, y)z) = -(x, ((a, b), y, y)z) = 0, using Lemma 4 with x = a, z = b. If R is not right alternative, then for every c in R we can find a z such that (x, y, y)z = c. This completes the proof of the theorem.

We are now ready to prove the main result.

THEOREM 2. If R is a division ring then R must be associative.

Proof. If R is right alternative then it is known [3, 8] that R must be alternative and then (2) suffices to make R associative. Then as a result of Theorem 1 we are down to the case where the identity ((a, b), c) = 0, holds for all elements a, b, c in R. In (4) substitute w = x, and x = y. Then $(xy, y, z) - (x, y^2, z) + (x, y, yz) = x(y, y, z) + (x, y, y)z$. Substituting w = x, and x = y, in (1) leads to (xy, y, z) + (x, y, (y, z)) = x(y, y, z) + (x, y, z)y. Subtract the left hand sides of the lest two identities to obtain

(25) $(x, y^2, z) - (x, y, zy) = -(x, y, y)z + (x, y, z)y$.

Substituting w = x, x = z, z = y in (4), we find that

$$(26) \quad (xz, y, y) - (x, zy, y) + (x, z, y^2) = x(z, y, y) + (x, z, y)y$$

Define K to be the set of all elements k in R such that (k, R) = 0. Clearly K is closed under subtraction. Also Lemma 2 implies that (x, y, y) belongs to K, for all elements x, y in R. Hence (x, y, z) + (x, z, y) is also an element of K, for all x, y, z in R. Adding the left hand sides of (25) and (26), it is clear that we get an element of K. Thus

(27)
$$(x, y, z)y + (x, z, y)y + x(z, y, y) - (x, y, y)z$$
 belongs to K.

Substituting w = x, x = z, z = y in (1), it follows that (xz, y, y) = x(z, y, y) + (x, y, y)z, so that

(28) x(z, y, y) + (x, y, y)z belongs to K.

Subtracting (28) from (27), it is clear that

(29) (x, y, z)y + (x, z, y)y - 2(x, y, y)z belongs to K.

Because of (11) we have (x, y, y)y = (xy, y, y), so that Lemma 2, with xy substituted for x, implies

(30) (x, y, y)y belongs to K.

Linearizing (30), we obtain

(31) (x, y, z)y + (x, z, y)y + (x, y, y)z belongs to K.

Comparing (29) and (31), it is clear that 3(x, y, y)z belongs to K, so that (x, y, y)z must also. Thus (w, (x, y, y)z) = 0, for all w, x, y, z in R. If R is not right alternative, then clearly R must be commutative. But in that case it is certainly flexible and that was enough to imply that R is alternative and hence associative [6]. This is a contradiction, so R must have been right alternative and hence the proof of the theorem.

We conclude with a generalization of Theorem 2. Let S be a division ring of characteristic $\neq 2, 3$, which satisfies (1), (3) and a weaker form of identity (2), namely that (2) holds whenever x, y, z lie in a subring which can be generated by two elements. Now we are dealing with a set of identities which are valid in every alternative ring. From the conclusion of Theorem 2 it follows that every subring of S generated by two elements is associative, so that S must in fact be alternative. This yields a worthwhile generalization of the main result, with little additional effort.

ERWIN KLEINFFLD

References

1. I. R. Hentzel, (-1, 1) rings, Proc. Amer. Math. Soc., 22 (1969), 367-374.

2. ____, Nil semi-simple (-1, 1) rings, J. Algebra, 22 (1972), 442-450.

3. Erwin Kleinfeld, Right alternative rings, Proc. Amer. Math. Soc., 4 (1953), 939-944.

4. ____, On a class of right alternative rings, Math. Zeitschr., 87 (1965), 12-16.

5. _____, Generalization of alternative rings, I, J. Algebra, 18 (1971), 304-325.

6. _____, Generalization of alternative rings, II, J. Algebra, 18 (1971), 326-339.

7. Carl Maneri, Simple (-1, 1) rings with an idempotent, Proc. Amer. Math. Soc., **14** (1963), 110-117.

8. L. A. Skorniakov, *Right alternative fields*, Izvestia Akad. Nauk. SSSR Ser. Mat., **15** (1951), 177-184.

Received June 6, 1973. This research was supported in part by the National Science Foundation under GP-32898 XI.

UNIVERSITY OF IOWA

PACIFIC JOURNAL OF MATHEMATICS

EDITORS

RICHARD ARENS (Managing Editor) University of California Los Angeles, California 90024

R. A. BEAUMONT University of Washington Seattle, Washington 98105 J. DUGUNDJI Department of Mathematics University of Southern California Los Angeles, California 90007

D. GILBARG AND J. MILGRAM Stanford University Stanford, California 94305

ASSOCIATE EDITORS

E. F. BECKENBACH

B. H. NEUMANN F. WOLF

K. Yoshida

SUPPORTING INSTITUTIONS

UNIVERSITY OF BRITISH COLUMBIA CALIFORNIA INSTITUTE OF TECHNOLOGY UNIVERSITY OF CALIFORNIA MONTANA STATE UNIVERSITY UNIVERSITY OF NEVADA NEW MEXICO STATE UNIVERSITY OREGON STATE UNIVERSITY UNIVERSITY OF OREGON OSAKA UNIVERSITY UNIVERSITY OF SOUTHERN CALIFORNIA STANFORD UNIVERSITY UNIVERSITY OF TOKYO UNIVERSITY OF UTAH WASHINGTON STATE UNIVERSITY UNIVERSITY OF WASHINGTON * * * AMERICAN MATHEMATICAL SOCIETY NAVAL WEAPONS CENTER

Printed in Japan by Intarnational Academic Printing Co., Ltd., Tokyo, Japan

Pacific Journal of Mathematics Vol. 53, No. 1 March, 1974

Martin Bartelt, Strongly unique best approximates to a function on a set, and a finite	
subset thereof	1
S. J. Bernau, <i>Theorems of Korovkin type for L_p-spaces</i>	11
S. J. Bernau and Howard E. Lacey, <i>The range of a contractive projection on an</i>	
L _p -space	21
Marilyn Breen, Decomposition theorems for 3-convex subsets of the plane	43
Ronald Elroy Bruck, Jr., A common fixed point theorem for a commuting family of	
nonexpansive mappings	59
Aiden A. Bruen and J. C. Fisher, <i>Blocking sets and complete k-arcs</i>	73
R. Creighton Buck, Approximation properties of vector valued functions	85
Mary Rodriguez Embry and Marvin Rosenblum, Spectra, tensor products, and	
linear operator equations	95
Edward William Formanek, <i>Maximal quotient rings of group rings</i>	109
Barry J. Gardner, <i>Some aspects of T-nilpotence</i>	117
Juan A. Gatica and William A. Kirk, A fixed point theorem for k-set-contractions	
defined in a cone	131
Kenneth R. Goodearl, Localization and splitting in hereditary noetherian prime	
rings	137
James Victor Herod, Generators for evolution systems with quasi continuous	
trajectories	153
C. V. Hinkle, <i>The extended centralizer of an S-set</i>	163
I. Martin (Irving) Isaacs, Lifting Brauer characters of p-solvable groups	171
Bruce R. Johnson, <i>Generalized Lerch zeta function</i>	189
Erwin Kleinfeld, A generalization of $(-1, 1)$ rings	195
Horst Leptin, On symmetry of some Banach algebras	203
Paul Weldon Lewis, <i>Strongly bounded operators</i>	207
Arthur Larry Lieberman, Spectral distribution of the sum of self-adjoint	
operators	211
I. J. Maddox and Michael A. L. Willey, <i>Continuous operators on paranormed</i>	
spaces and matrix transformations	217
James Dolan Reid, On rings on groups	229
Richard Miles Schori and James Edward West, Hyperspaces of graphs are Hilbert	
<i>cubes</i>	239
William H. Specht, A factorization theorem for p-constrained groups	253
Robert L Thele, Iterative techniques for approximation of fixed points of certain	
nonlinear mappings in Banach spaces	259
Tim Eden Traynor, An elementary proof of the lifting theorem	267
Charles Irvin Vinsonhaler and William Jennings Wickless, <i>Completely</i>	
decomposable groups which admit only nilpotent multiplications	273
Raymond O'Neil Wells, Jr, Comparison of de Rham and Dolbeault cohomology for	
proper surjective mappings	281
David Lee Wright, The non-minimality of induced central representations	301
Bertram Yood, Commutativity properties in Banach*-algebras	307